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Section A: English Language (22-26 Qs)

Passage 1 (Q1-Q5):

The digital revolution has changed the way humans interact, work, and learn. Social media
has created new opportunities for global connections but also introduced challenges like
misinformation, cyberbullying, and mental health issues. Governments and tech companies
face the challenge of balancing innovation with regulation.

Q1. The central theme of the passage is:
a) Social media and its global benefits
b) Digital revolution and its challenges
¢) Importance of government regulation
d) Mental health and innovation

Q2. Which of the following is NOT mentioned as a challenge of social media?
a) Cyberbullying

b) Misinformation

c) Job creation

d) Mental health issues

Q3. The author’s tone can best be described as:
a) Optimistic

b) Analytical

¢) Emotional

d) Sarcastic

Q4. The word “regulation” means:
a) Lawful control

b) Innovation

c¢) Freedom

d) Digitalization

Q5. Which is implied in the passage?

a) Social media has only negative effects.

b) Governments should ban social media.

c) Balance between growth and control is necessary.
d) Social media affects only teenagers.
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Grammar/Vocab (Q6—-Q10):

Q6. Choose the correct option: He  to school every day.
a) go

b) goes

c) gone

d) going

Q7. Antonym of benevolent:
a) Kind

b) Cruel

c¢) Generous

d) Noble

Q8. Fill in the blank: The team is confident _ winning the match.
a) of

b) to

c) about

d) for

Q9. Correct the sentence: She don t like coffee.
a) She doesn’t likes coffee

b) She doesn’t like coffee

c¢) She don’t likes coffee

d) No correction

Q10. Synonym of Ambiguous:
a) Clear

b) Confusing

c¢) Certain

d) Easy

Passage 2 (Q11-Q15):

Climate change is no longer a distant threat. Rising sea levels, frequent heat waves, and
unpredictable monsoons show that urgent global cooperation is required. The Paris
Agreement was a major step, but many nations struggle to meet their commitments.

QI11. The main argument of the passage is:
a) Climate change is exaggerated

b) Global cooperation is required

c¢) Paris Agreement is enough

d) Monsoons are predictable
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Q12. Which of the following is a consequence of climate change mentioned?
a) Improved agriculture

b) Rising sea levels

c) Population growth

d) Economic slowdown

Q13. Which statement weakens the passage’s argument?
a) Evidence shows climate change is a myth

b) Nations struggle to meet Paris Agreement targets

c) Heat waves are increasing

d) Sea levels are rising

Q14. Word opposite in meaning to urgent:
a) Immediate

b) Relaxed

¢) Quick

d) Vital

Q15. Which word best describes the tone?
a) Casual

b) Alarmist

c) Persuasive

d) Optimistic

(Continue English till Q26 with similar RC + vocab + grammar.)

Section B: Current Affairs & GK (28-32 Qs)

Q27. The 2024 Summer Olympics were held in:
a) Paris

b) Los Angeles

c¢) Tokyo

d) Beijing

Q28. Current Chief Justice of India (2025):

a) D.Y. Chandrachud

b) Sanjiv Khanna

c) U.U. Lalit

d) Ranjan Gogoi
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Q29. India’s Chandrayaan-3 mission successfully landed on:
a) Moon’s South Pole

b) Mars

c) Jupiter

d) Moon’s North Pole

Q30. Which country is hosting G20 Summit 2025?
a) India

b) Brazil

c) Italy

d) South Africa

Q31. “Blue Economy” refers to:

a) Space exploration

b) Ocean-based sustainable growth
c¢) Clean energy

d) Artificial intelligence

(Continue till Q58 with mix of national/international affairs, awards, sports, economics,
science & tech, polity.)

Section C: Legal Reasoning (28-32 Qs)

Principle 1: Every person has a right to freedom of speech, but this does not allow
defamation.

Facts: Ramesh wrote an article calling his neighbor a thief without evidence.

Q59. Is Ramesh protected under freedom of speech?
a) Yes, freedom of speech is absolute

b) No, it amounts to defamation

¢) Yes, because it is his opinion

d) Yes, unless proved false

Principle 2: A minor’s agreement is void.
Facts: A 17-year-old boy borrowed money from his friend and promised to repay.

Q60. Can the contract be enforced?
a) Yes, because he promised
b) No, because he is a minor
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¢) Yes, if his parents consent
d) Yes, if amount is small

Principle 3: Trespass is entering someone’s property without permission.
Facts: Seema entered her neighbor’s garden to take a shortcut.

Q61. Has Seema committed trespass?

a) Yes

b) No, because she didn’t damage property
c) No, because it was temporary

d) No, if neighbor forgives

(Continue with Constitutional, Torts, Contract, Criminal Law scenarios till Q90.)

Section D: Logical Reasoning (22-26 Qs)

Q91. Statement: All lawyers are professionals. Some professionals are not teachers.
Conclusion:

a) All professionals are lawyers

b) Some lawyers are professionals

c¢) Some teachers are lawyers

d) No lawyer is a teacher

Q92. Find the missing number: 2, 6, 12, 20, ?
a) 28
b) 30
c) 32
d) 34

Q93. If “LAW” =37, “ACT” =22, then “BAR” =?
a) 24
b) 28
c) 30
d) 32

(Continue puzzles, critical reasoning, syllogisms till Q112.)

Section E: Quantitative Techniques (10-14 Qs)
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Q113. A train runs 180 km in 3 hours. What is its speed?
a) 50 km/h
b) 60 km/h
c¢) 70 km/h
d) 80 km/h

Q114. If 5 workers complete a task in 10 days, how many days will 10 workers take?
a)2

b) 4

c)5

d) 10

Q115. A shopkeeper bought a pen for 40 and sold it for ¥50. Find profit %.
a) 20%
b) 25%
c) 30%
d) 10%

(Continue with arithmetic, percentages, ratios, DI graphs till Q120.)
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